PWR

5
—Is
4 SCl I SCL
3 SDA = SDA
Loy =
SPEED D6
GND
VIN

D7\§§

5 £ THIN l 10K
] THIN 2 STCTL — —
0.1uF 2 1 -
—— -'_55;<:: -] R3
—— 3 GND
Cl D4 Break D1
THROTTLE
GND GND (oM
1
2
Ul 3
4
ST b1z |-30CLK CLK 5 JLuF
21 3v3 p1 |22CS CS 9 =
Cc2
[ [ 010 | -28DIN DIN |
4 1 po po |27 12
S 1A pg |28
BAT 6 A2 D7 25 BTN
A e D6 |24
SDA SDA 8 | ) De |28
SCL SCL 9 A5 D4 22 {sTLEDCTL ]
Eo—0 1 a6 D3 |2 <5
R N D2 2045
12 19
E>—=- sv GND2 |—= —
e RsT2 |18 GND
GND , GND14 1 gnp rRX0 1L
>—{ vin T>1 |8 L
- CLK CLK 5
Arduino Nano Every CS CS 4 -
DIN DIN 3 K
GND GND 2 7z
GND :>—l -

GND

GND




